CENTRAL PUBLIC SCHOOL

Subject - Maths TAJPUR RO AD, SAMASTIP‘IR Time- 3 hrs.
Class—X MID TERM EXAM - 2019 F.M.-80 B

Section—-A 20X1=20
A. Choose the correct option. :

F 1. Ifnisany natural number then 6-5" always end with
" a) 1 " b)3 oS d)7
2. The product of three consecutive Integers Is divisible by
a) 5 b)6 07 d) none of these
3. If one root of the polynomial p(y) = 5y* + 13y + m s reciprocal of other, then the value of m is
a) 6 b)0 )5 d) Y5
4. The zeroes of the quadratic polynomial x? + kx + k, K # 0.
a) both cannot be positive c) are always equal
b) both cannot be negative d) are always unequal
5. The pair of equationsy = 0 and y = -7 has
a) one solution b) two solution® ¢) infinitely many selutions  d) no solutions
6. If ax? + bx + ¢ = 0 has equal roots, then the value of b is s il
a) &vac b)t2vac c)vac d)noneofthese ' - u‘ﬁcthﬁ;.
7. 1f18,3,b,-3 are in AP, then a + b is equal to - v % 184
a) 19 b)7 11 - d)1s
<, 8. Asquare and a rhombus are always _
a) Similar  b) congruent c) similar but not congruent d) neither similar nor congruent
" 9. InA ABCis right angle at C, then the value of Cos (A +B) is—

a o b)1 ) d}-—-

10, A pole 6m high casts a shadow 2\/. 3 mlong on the ground then the sun's elevation is
a) 60° - b)45° c) 30"y d) 90°
B. Fill in the blanks: -
11.A polynomial Is of degree one.
12.1fa=bq +r,least value of r Is
13. The equation of the form ax? + bx = 0 will always have roots.
14, Maximum value for sine of any angle is
15. All circles are .
C. State whether the following statements are True or False.
16.1f ADEF ~ A QRP, then /D=/Q and /[E= /P
17.S5in (A+B)=SinA+SinB
18.1f a, b, carein AP then, 2a=b + ¢
19. 0.2 is a root of the equation x*-0.4 =0
20. Sum of two irrational numbers is an irrational number.
J Section-B
Each questions carries 2 marks. . 6X2 =12
21. For what values of K, k-3, 2k+1 and 4k+3 are in AP?
22. Show that every positive odd integer is of the form (4g+1) or (4q+3),
f 7 23.Rahim tosses two different colns simultaneously. Find the probabili

Where q is some integer.
ty of getting at least one tail.
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24, If @ and 8 are zeroes of polynomial p(x) = x2 ~ Sx +6, then find the value of @ + § - 3af. 1 ‘

1 2 4
25, =
Solve forx = +1+x+2 Sor

26. 1ftan (A + B) = V3 and tan (A-B)=%:0°<A'+55'9°°i‘“>3' fiylAang b
i .
Eachquestions carries 3 Marks. 0k 28
@ql\m the pair of linear equations. ' ‘
(@a¥b)x+(a+b)y=al-2ab-b?
a +b) (x+y)= a2 b2 X
28. In an equilateral triangle ABC, D is a point on side BC such that BD = -;- BC. Prove that 9AD? = 7AB%

sine-cose+1 o 1
sine +cose=1 sece-tane

5 . 5
30. Obtain all other zeroes of 3x* + 6x* = 2x = 10x - 5, If two of its zeroes are \E and - J;

31. How many three digit numbers are divisible by 77
If the areas of two similar triangles are equal, prove that they are congruent.

33. The angles of elevation of the top of a tower from two points at a distance of 4m and Sm from the
base of the tower and in the same straight line with it are complementary. Find the height of the
tower.

34. The diagonal of a rectangular ﬂeld is 60m more than the shorter side. If the lenger side is 30m more
than the shorter side. Find the sides of the field. '

29. Prove that

Section D - 3
Each questions carries 4 marks. ' 6X4=24 -
35. State and prove Pythagoras theorem. gy r
__ 36.1f Cosec A+ Cot A=m. Find the value of Cos A: IR A N N DY 1o
OR - BAU L Ei i o e
If 9 Sin @+ 40 Cos e = 41. Find the value of Cosec e. t' '?1!“1,
37. At the foot of a mountain, the Elevation of its summit is 45°. After ascending 1000m towards the vy
mountain up a slope of 30° inclination, the Elevation is found to be 60°. Find the height of the 41%
mountain. - q9€
38. Draw the graphs of the Equations 5x —y = 5 and 3x -y = 3. Determine the coordinates of the “i;‘_‘( y

vertices of the triangle formed by these lines and the y axis.
39, The sum of the third and the seventh terms of an AP is 6 and their product is 8. Find the sum of fi rst

sixteen terms of the AP.
40. If the polynomial x* = 6x° + 16x% +25x + 10’ is divided by another polynomial x* — 2x + k, the

i remainder comes out to be (x +a), findkanda. ' '
i 3 L3 I OR
The line segment XY is parallel to side ACof A ABC and it divides the triangle into two parts of equal

areas. Find the ratio —B _ Al
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